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Choose the correct answer from a ,b ,c or d.

1-- eensensecenncocs your name and address?

a) How's b) Who's ¢) Whose d) What's
2- Pilots always have .............. .

a) nurses b) copilots Cc) workers d) singers
3-Wecanfindalot................ Books in this store .

a) of b) on c) at d) in
4- 1 think, itis ...cccevvnnnnnnn... to rain.

a) go b) going c) went d) goes

5- They played the violin ....................
a) good b) ba c) slow d) well
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Choose the correct answer from a ,b ,c or d.

1- I can read stories at the ...........cccuvn.ee
a) library b) theatre c) bank d) post office
2- They were reading a newspaper when the eagle.................. by.
a) fly b) flies c) flying d)flew
3- We go to school by ........ccccuu.enn.
a) ourselves b) themselves C) yourselves d) yourself
4 - If I turn off the fan, I will feel ...................
a) cold b) hot c) hungry d) proud
5- Her best.....ccccuueueeen.. is vanilla.

a) flavour b) kind c) colour d) size
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Choose the correct answer froma ,b ,c or d.

1 She is two but she could ................. to ten

a) count b) peel c) blow d) build
2- He went to the bakery to buy....................

a) bread b) cheese c) fruit d) meat
3- She doesn't .......cccuveeeen. on make — up.

a) wear b) drive c) talk d) put
4-She cooks her breakfast by.........cccoeuveeenn.

a) itself b) herself c) himself d) myself
o>-He was ..cccevvvnnnnnnnn a nap when the camel walked by.

a) take b) took ¢) taking d) takes
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